Available Online at http://www.recentscientific.com

CODEN: IJRSFP (USA)

International Journal of Recent Scientific Research Vol. 8, Issue, 6, pp. 17567-17573, June, 2017

International Journal of Recent Scientific

Research

DOI: 10.24327/IJRSR

Research Article

STUDY OF PROPERTIES OF CERTAIN FAMILY OF UNIVALENT FUNCTIONS ASSOCIATED WITH SUBORDINATION

Pravin Ganpat Jadhav

Mathematics, Hon. Balasaheb Jadhav Arts, commerce and Science College, Ale, Pune (M.S.)

DOI: http://dx.doi.org/10.24327/ijrsr.2017.0806.0381

ARTICLE INFO

Article History:

Received 15th March, 2017 Received in revised form 25th April, 2017 Accepted 23rd May, 2017 Published online 28th June, 2017

ABSTRACT

There are many subclasses of univalent functions. The objectives of this paper is to introduce new classes and we have attempted to obtain Partial sums, Weighted mean, Arithmetic mean and Linear combination for the classes (A, B, α) and K (A, B, α)

Key Words:

Multivalent function, coefficient estimate, distortion theorem, radius of star likeness, subordinate.

Copyright © Pravin Ganpat Jadhav, 2017, this is an open-access article distributed under the terms of the Creative Commons Attribution License, which permits unrestricted use, distribution and reproduction in any medium, provided the original work is properly cited.

INTRODUCTION

Let T denote the class of functions f(z) of the form

$$f(z) = z \quad \sum_{k=2}^{\infty} a_k z^k, \quad a_k \ge 0$$
(1)

which are univalent in the unit disc $U = \{z : z \in and \mid z \mid < 1\}$

Definition: A function $f(z) \in T$ is said to be close to convex of order μ ($0 \le \mu < 1$) if $Re \{f'(z)\} > \mu \text{ for all } z \in U$

A function $f(z) \in T$ is said to be in the subclass $H(\mu)$ of starlike function if

$$Re\left(\frac{zf'(z)}{f(z)}\right) > \mu$$
, $z \in U$ $0 \le \mu < 1$

Definition: A function $f(z) \in T$ is said to be in the subclass $G(\mu)$ of convex function if

$$Re\left(1+\frac{zf^{'}(z)}{f(z)}\right) > \mu, \qquad z \in U$$

Definition: Let f(z) = z $\sum_{k=2}^{\infty} a_k z^k$, g(z) = z $\sum_{k=2}^{\infty} a_k z^k$, $a_k \ge 0$, $b_k \ge 0$ then the convolution is defined as

$$f(z)$$
 $g(z) = z \sum_{k=2}^{\infty} a_k b_k z^k$ (1.3.1)

Definition: If f and g are regular in U, we say that f is subordinate to g, denoted by fg or f(z)g(z), if there exist a Schwarz function w, which is regular in U with w(0) = 0 and |w(z)| < 1

 $z \in U$ such that $f(z) = g(w(z)), z \in U$. In particular if g is univalent in U, we have the equivalence

g(z) if and only if f(0) = g(0) and $f(U) \subset g(U)$

^{*}Corresponding author: Pravin Ganpat Jadhav

Definition: We say that a function $f(z) \in T$ is in the class (A, B, α) if it satisfy

$$\frac{zf'(z) + \alpha z^2 f''(z)}{\alpha z f'(z) + (1 \quad \alpha) f(z)} \quad \frac{1 + Az}{1 + Bz} \qquad \dots \dots (1.5.1)$$

for $0 < \alpha \le 1$, $1 \le B < A \le 1$

Furthermore a function $f(z) \in T$ is said to belong to the class K (A, B, α) if and only if $zf'(z) \in (A, B, \alpha)$.

Theorem A function f(z) = z $\sum_{k=2}^{\infty} a_k z^k$, $a_k \ge 0$ is in (A, B, α) if and only if

$$\sum_{k=2}^{\infty} \{k + \alpha k^2 \quad 2\alpha k \quad (1 \quad \alpha) \quad [B(k + \alpha k(k \quad 1)) \quad A(\alpha k + 1 \quad \alpha)]\} a_k \le (A \quad B)$$

Corollary If $f(z) \in (A, B, \alpha)$ then

$$a_k \le \frac{(A \quad B)}{k + \alpha k^2 \quad 2\alpha k \quad (1 \quad \alpha) \quad \left[B\left(k + \alpha k(k \quad 1)\right) \quad A(\alpha k + 1 \quad \alpha)\right]}$$

and the equality holds for

$$f(z) = z \quad \frac{(A \quad B)}{k + \alpha k^2 \quad 2\alpha k \quad (1 \quad \alpha) \quad \left[B(k + \alpha k(k \quad 1)) \quad A(\alpha k + 1 \quad \alpha)\right]} z^k$$

Theorem: A function f(z) = z $\sum_{k=2}^{\infty} a_k z^k$, $a_k \ge 0$ is in $K(A, B, \alpha)$ if and only if

$$\sum_{k=2}^{\infty} \{ [k^2(1 \quad 2\alpha) + \alpha k^3 \quad k(1 \quad \alpha)] \quad A[\quad \alpha k^2 \quad k(1 \quad \alpha)] \quad B[k^2 + \alpha k^2(k \quad 1)] \} a_k \le (A \quad B)$$

Corollary If $f(z) \in K$ (A, B, α) then

$$a_k \leq \frac{(A \quad B)}{\left[k^2(1 \quad 2\alpha) + \alpha k^3 \quad k(1 \quad \alpha)\right] \quad A\left[\begin{array}{ccc} \alpha k^2 & k(1 \quad \alpha) \end{array} \right] \quad B\left[k^2 + \alpha k^2(k \quad 1)\right]}$$

and the equality holds for

$$f(z) = z - \frac{(A - B)}{[k^2(1 - 2\alpha) + \alpha k^3 - k(1 - \alpha)] - A[-\alpha k^2 - k(1 - \alpha)] - B[k^2 + \alpha k^2(k - 1)]} z^k$$

Partial Sums

Following the earlier works by G. Murugusundaramoorthy, T. Rosy and K. Muthunagai [1] on partial sums of regular function. In this section we obtain lower bounds for the ratios of Ref(z) to $f_k(z)$ and f'(z) to $f'_k(z)$

Theorem Let $f(z) = z + \sum_{k=2}^{\infty} a_k z^k$, $f(z) \in (A, B, \alpha)$ and define the partial sums $f_1(z)$ and $f_n(z)$, by

$$f_1(z) = z$$
 and $f_n(z) = z + \sum_{k=2}^n a_k z^k$, $n \in \{1\}$ (2.1.1)

Suppose also that

$$\sum_{k=2}^{\infty} b_k |a_k| \le 1 \tag{2.1.2}$$

Where

$$b_k = \frac{\left\{k + \alpha k^2 \quad 2\alpha k \quad (1 \quad \alpha) \quad \left[B\left(k + \alpha k(k \quad 1)\right) \quad A(\alpha k + 1 \quad \alpha)\right]\right\}}{A \quad B}$$
 Then $\in \quad (A, B, \alpha)$. Furthermore,

$$Re\left\{\frac{f(z)}{f_{n}(z)}\right\} > 1 \quad \frac{1}{b_{n+1}}, z \in U, n \in \dots$$
 (2.1.3)

And
$$Re\left\{\frac{f_{n}(z)}{f(z)}\right\} > \frac{b_{n+1}}{1+b_{n+1}} \qquad (2.1.4)$$

Proof- It is easily seen that $f_1(z) \in (A, B, \alpha)$ and $f \in (A, B, \alpha)$ Next, for coefficient b_n we can verify that

$$b_{k+1} > b_k > 1 \dots (2.1.5)$$

By setting

$$a_1(z) = b_{n+1} \left\{ \frac{f(z)}{f_n(z)} \quad \left(1 \quad \frac{1}{b_{n+1}} \right) \right\}$$

$$=1+\frac{b_{n+1}\sum_{k=n+1}^{\infty}a_kz^{k-1}}{1+\sum_{k=2}^{n}a_kz^{k-1}}$$

We write

$$\left| \frac{1(z)}{1(z)+1} \right| \le \frac{b_{n+1} \sum_{k=n+1}^{\infty} |a_k|}{2 - 2 \sum_{k=2}^{n} |a_k|} \frac{b_{n+1} \sum_{k=n+1}^{\infty} |a_k|}{b_{n+1} \sum_{k=n+1}^{\infty} |a_k|} \dots \dots (2.1.6)$$

$$\left| \frac{1(z)}{1(z) + 1} \right| \le 1$$

$$\frac{b_{n+1} \sum_{k=n+1}^{\infty} |a_k|}{2 - 2 \sum_{k=2}^{n} |a_k| - b_{n+1} \sum_{k=n+1}^{\infty} |a_k|} \leq 1$$

Which is equivalent to

$$\sum_{k=2}^{n} |a_k| + b_{n+1} \sum_{k=n+1}^{\infty} |a_k| \le 1 \qquad \dots \dots (2.1.7)$$

It is sufficient to show that the left hand side of (2.1.7) is bounded by $\sum_{k=2}^{\infty} b_k a_k$ Which is equivalent to

$$\sum_{k=2}^{\infty} (b_k - 1) a_k + \sum_{k=n+1}^{\infty} (b_k - b_{k+1}) a_k \ge 0$$

This complete the proof of (2.1.3). In order to see that

$$f(z) = z + \frac{z^{n+1}}{b_{n+1}}$$

Gives the sharp result, we observe that for $z = re^{i\pi/n}$

$$\lim_{z \to 1_{-}} \frac{f(z)}{f_{n}(z)} = \lim_{z \to 1_{-}} \left(1 + \frac{z^{n}}{b_{n+1}} \right) = 1 \quad \frac{1}{b_{n+1}}$$

Similarly If we define

$$\begin{split} _{2}(z) &= (1+b_{n+1}) \left\{ \begin{matrix} f_{n}(z) \\ f(z) \end{matrix} \quad \left(1 \quad \frac{b_{n+1}}{1+b_{n+1}} \right) \right\} \\ &= 1 \quad \frac{(1+b_{n+1}) \sum_{k=n+1}^{\infty} a_{k} z^{k-1}}{1+\sum_{k=2}^{\infty} a_{k} z^{k-1}} \\ \left| \frac{_{2}(z) \quad 1}{_{2}(z) + 1} \right| &\leq \frac{(1+b_{n+1}) \sum_{k=n+1}^{\infty} |a_{k}|}{2 \quad 2 \sum_{k=2}^{n} |a_{k}| \quad (1-b_{n+1}) \sum_{k=n+1}^{\infty} |a_{k}|} \leq 1 \end{split}$$

This last inequality is equivalent to

$$\sum_{k=2}^{n} a_k + b_{n+1} \sum_{k=n+1}^{\infty} a_k \le 1 \dots \dots (2.1.8)$$

It is sufficient to show that the left hand side of (2.1.8) is bounded by $\sum_{k=2}^{\infty} b_k a_k$ Which is equivalent to

$$\sum_{k=2}^{\infty} (b_k - 1) a_k + \sum_{k=n+1}^{\infty} (b_k - b_{k+1}) a_k \ge 0$$

This complete the proof of (2.1.4).

Theorem If $f(z) = z + \sum_{k=2}^{\infty} a_k z^k$ such that $f(z) \in (A, B, \alpha)$. Then

$$Re\left\{\frac{f'(z)}{f'_{n}(z)}\right\} \ge 1 \quad \frac{n+1}{b_{n+1}}$$
(2.2.1)

Proof: By setting

$$\begin{split} H(z) &= b_{n+1} \left\{ \frac{f'(z)}{f_{n}'(z)} - \left(1 - \frac{n+1}{b_{n+1}}\right) \right\} \\ &= 1 + \frac{\frac{b_{n+1}}{n+1} \sum_{k=n+1}^{\infty} k a_{k} z^{k-1}}{1 + \sum_{k=2}^{n} k a_{k} z^{k-1}} \\ \left| \frac{H(z)}{H(z) + 1} \right| \leq \frac{\frac{b_{n+1}}{n+1} \sum_{k=n+1}^{\infty} k |a_{k}|}{2 - 2 \sum_{k=2}^{n} k |a_{k}| - \frac{b_{n+1}}{n+1} \sum_{k=n+1}^{\infty} k |a_{k}|} \\ \text{Now} \\ \left| \frac{H(z)}{H(z) + 1} \right| \leq 1 \\ \text{If} \\ \sum_{k=2}^{n} k |a_{k}| + \frac{b_{n+1}}{n+1} \sum_{k=n+1}^{\infty} k |a_{k}| \leq 1 \\ \text{Since the left hand side of (2.2.2) is bounded above by } \sum_{k=2}^{\infty} b_{k} |a_{k}| \quad \text{if} \end{split}$$

$$\sum_{k=2}^{n} (b_k - k)|a_k| + \sum_{k=n+1}^{\infty} \left(b_k - \frac{b_{n+1}}{n+1}k|a_k|\right) \ge 0 \dots (2.2.3)$$

This completes the proof. The result is sharp for

$$f(z) = z + \frac{z^{n+1}}{b_{n+1}}$$

Theorem If $f(z) = z + \sum_{k=2}^{\infty} a_k z^k$ such that $f(z) \in (A, B, \alpha)$. Then

$$Re\left\{\frac{f_{n}'(z)}{f'(z)}\right\} \ge \frac{b_{n+1}}{n+1+b_{n+1}}\dots\dots(2.3.1)$$

PROOF: By setting

$$\begin{split} H(z) &= \left[(n+1) + b_{n+1} \right] \left\{ \frac{f_{n}'(z)}{f'(z)} \frac{b_{n+1}}{n+1 + b_{n+1}} \right\} \\ &= 1 \frac{\left(1 + \frac{b_{n+1}}{n+1} \right) \sum_{k=n+1}^{\infty} k a_k z^{k-1}}{1 + \sum_{k=2}^{n} k a_k z^{k-1}} \\ \left| \frac{H(z)}{H(z) + 1} \right| &\leq \frac{\left(1 + \frac{b_{n+1}}{n+1} \right) \sum_{k=n+1}^{\infty} k |a_k|}{2 \cdot 2 \sum_{k=2}^{n} k |a_k|} \frac{1}{\left(1 + \frac{b_{n+1}}{n+1} \right) \sum_{k=n+1}^{\infty} k |a_k|} \\ \text{Now} \end{split}$$

$$\left| \frac{H(z)}{H(z) + 1} \right| \le 1$$

$$\sum_{k=2}^{n} k|a_k| + \left(1 + \frac{b_{n+1}}{n+1}\right) \sum_{k=n+1}^{\infty} k|a_k| \le 1 \dots (2.3.2)$$

Since the left hand side of (2.3.2) is bounded above by $\sum_{k=2}^{\infty} b_k |a_k|$ if

$$\sum_{k=2}^{n} (b_k \quad k)|a_k| + \sum_{k=n+1}^{\infty} \left(b_k \quad \left(1 + \frac{b_{n+1}}{n+1}\right)k|a_k|\right) \ge 0 \dots (2.3.3)$$

This completes the proof.

Weighted Mean, Arithmetic Mean and Linear Combination

Following the earlier works by W.G.Asthan, H.D. Mustafa and E.K.Mouajeeb[2] weighted mean, arithmetic mean combination of regular function.

Definition: Let $f, g \in (A, B, \alpha)$ then the weighted mean w_{fg} of f and gis defined as

$$w_{fg} = \frac{1}{2}[(1 \quad t)f(z) + (1+t)g(z)], 0 < t < 1$$

Definition: Let $f_i(z) = z$ $\sum_{k=2}^{\infty} a_{i,k} z^k$, i = 1,2,3,...,m be the functions in the class (A,B,α) then the arithmetic mean of f_i (i = 1,2,3,...,m) is defined by

$$g(z) = \frac{1}{m} \sum_{i=1}^{m} f_i(z)$$

Definition: Let $f_i(z) = z$ $\sum_{k=2}^{\infty} a_{i,k} z^k$, i = 1,2,3,...,m be the functions in the class (A,B,α) then the linear combination of f_i (i = 1,2,3,...,m) is defined by

$$G(z) = \sum_{i=1}^{m} k_i f_i(z)$$
, where $\sum_{i=1}^{m} k_i = 1$

Theorem Let $f, g \in (A, B, \alpha)$. Then the weighted mean w_{fg} of f and g is also in the class (A, B, α) .

Proof: By DEFINITION 3.1, we have

$$w_{fg} = \frac{1}{2} [(1 \quad t)f(z) + (1+t)g(z)]$$

$$= \frac{1}{2} \left[(1 \quad t) \left(z \quad \sum_{k=2}^{\infty} a_k z^k \right) + (1+t) \left(z \quad \sum_{k=2}^{\infty} b_k z^k \right) \right]$$

$$= z \quad \sum_{k=2}^{\infty} \frac{1}{2} [(1 \quad t)a_k + (1+t)b_k] z^k \dots (3.1.1)$$

Since $g \in (A, B, \alpha)$ so by THEOREM 1 we have

$$\sum_{k=2}^{\infty} \{k + \alpha k^2 \quad 2\alpha k \quad (1 \quad \alpha) \quad [B(k + \alpha k(k \quad 1)) \quad A(\alpha k + 1 \quad \alpha)]\} a_k \le (A \quad B)$$

Anc

$$\sum_{k=2}^{\infty} \left\{ k + \alpha k^2 \quad 2\alpha k \quad (1 \quad \alpha) \quad \left[B \left(k + \alpha k (k \quad 1) \right) \quad A(\alpha k + 1 \quad \alpha) \right] \right\} b_k \le (A \quad B)$$

Therefore

$$\begin{split} &\sum_{k=2}^{\infty} \left\{ k + \alpha k^2 - 2\alpha k - (1 - \alpha) - \left[B \left(k + \alpha k (k - 1) \right) - A (\alpha k + 1 - \alpha) \right] \right\} \left[\frac{1}{2} \left[(1 - t) a_k + (1 + t) b_k \right] \right] \\ &= \frac{1}{2} (1 - t) \sum_{k=2}^{\infty} \left\{ k + \alpha k^2 - 2\alpha k - (1 - \alpha) - \left[B \left(k + \alpha k (k - 1) \right) - A (\alpha k + 1 - \alpha) \right] \right\} a_k \\ &+ \frac{1}{2} (1 + t) \sum_{k=2}^{\infty} \left\{ k + \alpha k^2 - 2\alpha k - (1 - \alpha) - \left[B \left(k + \alpha k (k - 1) \right) - A (\alpha k + 1 - \alpha) \right] \right\} b_k \leq \frac{1}{2} (1 - t) (A - B) + \frac{1}{2} (1 + t) (A - B) \end{split}$$

Therefore

$$w_{fg} \in (A, B, \alpha)$$

Hence the proof of theorem is completed.

Theorem Let $f_i(z) = z$ $\sum_{k=2}^{\infty} a_{i,k} z^k$, i = 1,2,3,...,m be the functions in the class (A,B,α) then the arithmetic mean of f_i (i = 1,2,3,...,m) is defined by

$$g(z) = \frac{1}{m} \sum_{i=1}^{m} f_i(z)$$
 is also in the class (A, B, α)

Proof: Since $f_i(z) = z \quad \sum_{k=2}^{\infty} a_{i,k} z^k$, i = 1,2,3,...,m

Therefore

$$g(z) = \frac{1}{m} \sum_{i=1}^{m} f_i(z)$$
$$= \frac{1}{m} \sum_{i=1}^{m} \left(z \sum_{k=2}^{\infty} a_{i,k} z^k \right)$$

$$= z \sum_{k=2}^{\infty} \left(\frac{1}{m} \sum_{i=1}^{m} a_{i,k} \right) z^{k}$$

We have $f_i(z)=z$ $\sum_{k=2}^{\infty}a_{i,k}\,z^k$, i=1,2,3,...,m are in the class (A,B,α) So by THEOREM 1 we prove that

$$\begin{split} & \sum_{k=2}^{\infty} \{k + \alpha k^2 - 2\alpha k - (1 - \alpha) - [B(k + \alpha k(k - 1)) - A(\alpha k + 1 - \alpha)] \} \left(\frac{1}{m} \sum_{i=1}^{m} a_{i,k}\right) \\ & = \frac{1}{m} \sum_{i=1}^{m} \left(\sum_{k=2}^{\infty} \{k + \alpha k^2 - 2\alpha k - (1 - \alpha) - [B(k + \alpha k(k - 1)) - A(\alpha k + 1 - \alpha)] \} a_{i,k}\right) \\ & \leq \frac{1}{m} \sum_{i=1}^{m} (A - B) = A - B \end{split}$$

Hence the proof of theorem is completed.

Theorem Let $f_i(z) = z$ $\sum_{k=2}^{\infty} a_{i,k} z^k$, i = 1,2,3,...,m be the functions in the class (A,B,α) then the linear combination of f_i (i = 1,2,3,...,m) is defined by

$$G(z) = \sum_{i=1}^{m} k_i f_i(z)$$
, where $\sum_{i=1}^{m} k_i = 1$ is also in the class (A, B, α)

Proof Let $f_i(z) = z - \sum_{k=2}^{\infty} a_{i,k} z^k$, i = 1,2,3,...,m be the functions in the class (A,B,α) so by THEOREM 1 we have

$$\begin{split} &\sum_{k=2}^{\infty} \left\{k + \alpha k^2 - 2\alpha k - (1 - \alpha) - \left[B\left(k + \alpha k(k - 1)\right) - A(\alpha k + 1 - \alpha)\right]\right\} a_{i,k} \leq (A - B) \\ &G(z) = \sum_{i=1}^{m} k_i f_i(z) \\ &G(z) = \sum_{i=1}^{\infty} k_i \left(z - \sum_{k=2}^{\infty} a_{i,k} z^k\right) \\ &G(z) = z - \sum_{k=2}^{\infty} \left(\sum_{i=1}^{m} k_i a_{i,k}\right) z^k \end{split}$$

So by THEOREM 1 we prove that

$$\begin{split} &\sum_{k=2}^{\infty} \left\{k + \alpha k^2 \quad 2\alpha k \quad (1 \quad \alpha) \quad \left[B\left(k + \alpha k(k \quad 1)\right) \quad A(\alpha k + 1 \quad \alpha)\right]\right\} \left(\sum_{i=1}^{m} k_i a_{i,k}\right) \\ &= \sum_{i=1}^{m} k_i \left(\sum_{k=2}^{\infty} \left\{k + \alpha k^2 \quad 2\alpha k \quad (1 \quad \alpha) \quad \left[B\left(k + \alpha k(k \quad 1)\right) \quad A(\alpha k + 1 \quad \alpha)\right]\right\} a_{i,k}\right) \\ &\leq \sum_{i=1}^{m} k_i (A \quad B) = A \quad B \end{split}$$

Hence the proof of theorem is completed.

References

- G. Murugusundaramoorthy, T. Rosy and K. Muthunagai, 'Carlson Shaffer operator and their applications to certain subclass of uniformly convex functions', general Mathematics Vol.15, No.4 (2007), 131-143
- 2. W.G.Asthan, H.D. Mustafa and E.K.Mouajeeb, 'Subclass of multivalent functions defined by Hadamard product involving a linear operator', *Int. Journal of Math. Analysis*, Vol.7, (2013), No.24, 1193-1206
- 3. S.M.Khairnar and S.R.Kulkarni, A class of univalent functions with negative coefficients, *Proc. of Math. Soc.*, B.H.U, Vol.17 (2001)
- 4. S.M.Khairnar. and Meena More, Subclass of analytic and univalent functions in the unit disk Scientia Magna, Northwest University, China, Vol. 3 (2007), No.2, pp 1-8.
- 5. S.M.Khairnar. and Meena More, Convolution properties of univalent functions with missing second coefficient of alternating type, *International. J. of Maths. Sci. and Engg. Appls.* Vol. I, No.1, pp 101-113, (2007).
- 6. S. M. Khairnar and Meena More: A subclass of uniformly convex functions associated with certain fractional calculus operator', *IAENG International Journal of Applied Mathematics*, 39(3) (2009), 184-191.

- 7. S. M. Khairnar and MeenaMore: Certain family of analytic and univalent functions with normalized conditions', *Acta Mathematica Academiae Paedagogicae Nyiregyh aziensis*, 24 (2008), 333-344.
- 8. S. M. Khairnar and MeenaMore: On a class of meromorphic multivalent functions with negative coefficients defined by Ruscheweyh derivative', *International Mathematical Forum*, 3(22), (2008), 1087-1097.
- 9. S. M. Khairnar and MeenaMore: On certain subclass of analytic functions involving Al-Oboudi differential operator', *Journal of Inequalities in Pure and Applied Mathematics*, 10(1), Art. Id. 57, (2009), 1-10

How to cite this article:

Pravin Ganpat Jadhav.2017, Study of Properties of Certain Family of Univalent Functions Associated With Subordination. *Int J Recent Sci Res.* 8(6), pp. 17567-17573. DOI: http://dx.doi.org/10.24327/ijrsr.2017.0806.0381
